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1. BEEHO
(1) FEEUNLE
O EXRMEERLE 7,338,000 9,320,000 A 1,982,000
Q@ BHEEEERS 30,000 802,000 A 772,000
@ ZWMEE 147,223,000 162,836,000 A 15,613,000
@ MR- -FELSZELNSE 500,000 0 500,000
® HERESE RTINS 900,000 2,605,000 A 1,705,000
® HIREFEFEINE 8,165,000 8,205,000 A 40,000
@ ZAEEFEIEE 67,600,000 80,900,000 A 13,300,000
TMEMNEFHE 300,000 310,000 A 10,000
OF & 0 7,000 A 7,000
RPN E (A)| 232,056,000 264,985,000 | A 32,929,000
(2) XEEH
OF:=3-
MRE-BEIFEXE 23,304,000 20,862,000 2,442,000
HEERITERXE 32,326,000 36,910,000 A 4,584,000
ERREEEXRE 16,428,000 13,113,000 3,315,000
HEEEXE 13,388,000 11,889,000 1,499,000
NEBEMEBEXREET (b1) 85,446,000 82,774,000 2,672,000
XEEXE 32,252,000 31,774,000 478,000
HIREEXE 15,777,000 20,706,000 A 4,929,000
SAEEXE 67,784,000 100,773,000 A 32,989,000
HAliTEE 0 1,631,000 A 1,631,000
ZTDMBERE (b2)] 115,813,000 154,884,000 A 39,071,000
EX 3 -6 (b1)+(b2)=(b3)| 201,259,000 237,658,000 A 36,399,000 |1
Q EBE
EEEET (b4) 33,484,000 41,782,000 A 8,298,000 |%2
ZEEER (b3)+(b4)=(B)| 234,743,000 279,440,000 A 44,697,000
L HARR EIBRAE (A)-(B)=(C)| A 2,687,000 | A 14,455,000 11,768,000
2. BESMEF D ER
(1) FE UL 0 0 0
RS INERET (d1) 0 0 0
(2) BENER
EHBBERE 6,060,000 0 6,060,000
B € & ERRENE 1,440,000 0 1,440,000
EENERET (d2) 7,500,000 0 7,500,000
LERE S E R (d1)-(d2)=(D)| A 7,500,000 0 A 7,500,000
L — AR IE LR EA BE IS i 5E (C)+(D)=(E)| A 10,187,000 | A 14,455,000 4,268,000
—REKRMEHEERS (F)| 871,448,000 873,119,000 A 1,671,000
—RRIERBIEEIR RS (E)+(F)=(G)| 861,261,000 858,664,000 2,597,000
[ I {55 IE MK BA EEE R DR )
L HAE T IF bR BA EE BB AR (H) 0 0 0
EEEKRMEREKRS o) 3,000,000 3,000,000 0
IEEEKRMERRKS (H)+D=(J) 3,000,000 3,000,000 0
[MIERBAEERES]) (G)+HJU)=(K)| 864,261,000 861,664,000 2,597,000
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